P RER 105158 (H)

NZ v 7 Btk

NS BRAARRRT  FASERER] B BT T v KM
1 10:00 09:40 (FBE « —fi%) 1 110mH (1. 067m__9. 14m) N4 BARV—=A 1
2 10:05 09:45 o2 5 7-110mH (0. 914m__9. 14m) N4 BARV=2 1
3 10:10 09:50 (EA « — %) A +100mH (0. 838m__8. 50m) N4 BARV=2 1
4 10:15 09:55 W22 7-100mH (0. 762m__8. 00m) N4 BABV=2 2
5 10:25 10:05 5 7-3000m N4 BARV=A 2
6 10:55 10:35 B100m N FABV=2 14
7 11:30 11:10 £1-100m N4 BABV=2 7
8 11:55 11:35 5 7-5000m N4 BARV=A 1
9 12:25 12:05 B1-400m N FABV=2 5
10 12:45 12:25 £2-400m N4 BABV=2 1
11 12:50 12:30 % 7-800m N4 BARV=2 2
12 13:00 12:40 #21-800m N4 BARV=2 1
13 13:10 12:50 5 -200m N4 BABV=2 7
14 13:40 13:20 #-200m N4 FABV=2 3
15 13:55 13:35 B -1500m N FABV=2 1
16 14:05 13:45 #1-1500m N4 BABV=2 1
17 14:15 13:55 B F-4X100mR N4 BAV=A 2
18 14:25 14:05 #Z+F-4X100mR N4 BARV=2 2

Bkt

NE7 PHAGIEME]  HHAERFH]  Bidn iXs 2 abil VAV ko
1 10:00 09:20 57 m bk A — R 1
2 10:00 09:20 - ARk AA N7 1
3 11:30 10:50 5B F ik N g N7 1
4 11:30 10:50 Mk Ry R 1
5 12:00 11:20 -k AV — N7 1
6 13:00 12:20 B EmEPk AA N7 1

BTEHE

NS BHAARRRT  FASERER] B %521 AT A M 1Y - §
1 10:00 09:20 R 5 - A (1. 750kg) ETEY; R 1
2 10:00 09:20 — W% 5 - A (2. 000kg) T VN 74 1
3 10:00 09:20 i 2 M AR (1. 000kg) BTy R 1
4 10:00 09:20 — 2 - A% (1. 000kg) BT N 1
5 11:30 10:50 W B - fLk (5. 000kg) BT VN 74 1
6 11:30 10:50 5 R LA (6. 000kg) BTy R 1
7 11:30 10:50 — B LA (7. 260kg) ETEY; R 1
8 12:30 11:50 R hu (2. 721kg) BT VN 74 1
9 12:30 11:50 R Az R LA (4. 000kg) BTy N 1
10 12:30 11:50 H Pz fu (4. 000kg) BT N 1
11 14:00 13:20 (B« —i%) FHF=°0 $ (800g) B — R 1
12 14:00 13:20 (B« —i%) <2 $ (600g) B — R 1



